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CHEMISTRY (Theory)
w9y : 3gee | [quias : 70
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fAdw : ) 39 9w 93 § g 30 v &1 @y s ¥
(i) ¥ W11 ¥ 8 TP A oY I U § AR UAD 1 3P &1 2 |
(i) U1 GET 9 | 18 9 Y IUNd U € iR uAF 2 3 BT 2|
(iv) W¥T T 19 | 27 9% N oY S0 9 & R udF 3 3F BT 2
(v) 9% 6T 28 | 30 OF 4" I9G U € 3R UAS 5 3 BT 2
(vi) R s & ), &1 IR 1 9T B wEHA & | DaAderex B w@nT affa B
(vii) UYH YT 9 IRH B iR 1 TP PR gA | Sl U A AT 8 99 W GHY
T 9 Hifor | :
Note: (1)  There are in all 30 questions in this question paper. All questions are compulsory.
(n)  Question No. 1 to 8 are very short answer questions and carry 1 mark each.
(1)) Question No. 9 to 18 are short answer questions and carry 2 marks each.
(iv)  Question No. 19 to 27 are also short answer questions and carry 3 marks each.
(v)  Question No. 28 to 30 are long answer questions and carry 5 marks cach.
(vi) Use Log tables, if necessary. Use of calculator is not allowed.
(vii) Start from the first question and proceed to the last. Do not waste time over a question, if
you can not solve.

1. RN R Ear 8 7 1
What is an aerosol ?
2. Ky[Fe (CN)g) H ATIRA &) JTRIBROT STawd] w7 & 2 1
What is the oxidation state of iron in K, [Fe (CN)g] ?
GG .
3. T CHOCH+4H — T ox +H0 H X & - 1
In reaction C;HOC,H;+4H —<aP *Hl_ % + H,0, the X is -
() = (i) zUTSS (i) =g (iv) W=
Ethane Ethylene Butane Propane
4. 9= @1 wrAc M fafed — 1
Write the IUPAC name of the following —
CH; O CH,4

|
CH3~—CIH—|C—C1I-1—CH3
5. fa=faRag @1 aRear @ ded HH ¥ waferd Hifw — 1

Arrange the following in the order of their increasing basic character —
NH; , CGHNH, , (CH;,NH , (C,Hsi:N

6. a1 ¥ faorg ) fef=t & am ey 1
Write the name of two Fat soluble vitamins.
7. WA & IAAfAe 9 AT | 1

Give chemical name of Teflon.
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8. YUHIZ™ & &I IGTEXY ST | 1
Give two examples of sulpha drugs.

9. A @1 IR foc TS F BT 2| AR THH ISP B PRI B TS
407 x 10~8cm TAT T 10.5g cm™3 B 1 TG BT WHIMTS TIHH G DIfOg | 2
Silver crystallises in fcc lattice. If edge length of the cell is 4.07 X 107%cm and density is
10.5 g cm™3, calculate the atomic mass of silver.

10. Tghaera RfEa den seraar Rfd § v #ifsrd | 2
Differentiate between tetrahedral void and octahedral void.

11. Fr=faRea &1 avsmgd — (@) wieaar (@) AreT—arw 1+1=2
Explain the following — Molality Mole fraction - '

. JAY4dT (OR)
FIREH AT B 4g (SR = 40) BT Wl ¥ TeAdR 200 cm’ A= g=wan w41 | fAerm=
1 AR F HIY | 2
4 g of caustic soda (molar mass = 40) is dissolved in water and solution is made to 200 cm’.
Calculate the molarity of the solution.

12. OIS & faga—srvee el fram fafag | 2
State the Faraday’s law of electrolysis.

13. fr=fafea @ gaesite famam fofag - 141=2
Write down the electronic configuration of the following —

(®) cut (@) Mn?*

14, SUEEEAGE e qen §e a9u § arR e i | 2
Clarify the differences between coordination compounds and double salts ?

15. mﬁmwmﬁwmm%?mmﬁmm@
arer QS |
Why does Trichloromethane store in dark coloured bottles ? Give reason with related reaction.

16. fa=ferfRaa @& e #ifg — Yax4=2
Match the following —

(@) uforar F@RIES  (Allyl chloride) (i) CH,=CHCI
(@) IfTer TARIZS  (Benzyl chloride) (i) CCLF,

(1) faae TERISS (Vinyl chloride) (i) CH,=CHCH,CI
() fpam= (Freon) (iv) C¢HsCH,CI

17. ffafaa Igad & W 3R B fog Wgad THadi H faRau — 1+1=2
Write the monomers used for getting the following polymers —

(@) Faea (@) SParse
Glyptal . Bakelite

18. ﬁmﬁwsﬁaﬁﬁaﬂ?m—ﬁﬂmﬂaﬁmﬁmwﬁ?mww
IETEror S |
What are biodegradable and non-biodegradable detergents ? Give one example of each.

19. (®) THRTEY, JUURME o1 e fega a1 8 & ? 1%

What are isotonic, hypotonic and hypertonic solutions ? _
(@) TP Ao &1 WRRRU TE 32 dIgEvSd B, fued 9fd offeR H 20°C W 45 g
g gort 8| Faie R & #IF @1 T #iforg | (IS BT AR = 342) 1%
The osmotic pressure of a solution containing 45g of sucrose dissolved per liter of solution at
20°C is 3.2 atm. Calculate the value of constant R. (molecular weight of sucrose = 342).
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TS Al T2 ? TS oS Aadd qd @ At Ay o1 aoie et
yfAfrans 1 Ferar & Hifor | 3
What is secondary Battery ? Write the mechanism of recharging of lead storage battery with the
help of ¢ghemical reactions.
3AYdl (OR)
(@) TS IoaeIe v &1 ofifa diferg | 1
Define Standard Electrode Potential.
(@) e A @ R 99 saaere g 1.4 v 21
AMFHAT Zn (s) + Cu* (aq) ——> Zn?* (aq) + Cu (s) & ford AF® et St &1
gREe BT | _ 2
The standard electrode potential for Daniell cell is 1.1 V. Calculate the standard Gibbs energy
for the reaction Zn (s) + Cu?* (aq) —>~Zn?* (aq) + Cu(s). '

21. foudh folRd — (@) uwwfiemwr (@) @<+ () fevsad W@ 1+14+1=3
Write short notes — Emulsification Coagulation Tynadall effect

22. AT ¥ &1 AHifba R a3y ok A @ fepdo @ R g v @ RAifvw a5
¥ B arell il @1 fafed | 3
Draw a labelled diagram of Blast Furmance, and write down the reactions taking place in different
zones in the blast furnace during the extraction of iron.

23. (&) F=foRaa & fFafor # 89 arell wmafe aiffkaret @ wfexor fafee— 2

Write the equation of chemical reactions involved in the preparation of the following -
(i) XeF, (i) H;PO;

(@) Cl, B faRaTs fbar &1 FROT Tagy | 1
Give the reason for bleaching action of Cl,.

24. (@) HHAY ded N Dfie @@t 9 & ? 12

Why do transition elements form coloured compounds ?

(@) d-NF D DT W TG GHAY dd 8] HEATS & ? 1>
Which of the ‘d’ block elements may not be regarded as the transitional elements ?

25. wrafis, fgdias ARk gias gepRla @ g 8 ? o B § 9e ueiie, fEdee
3R FeTD TePpiEd ST0K TR TH SR R yarfed 6y o & 2 3
What are primary, secondary and tertiary alcohol ? What happens when primary, secondary and
tertiary alcohols are passed over heated copper at S70 K ?°

26. 1 M sifafsamt &1 varafae aifes aftg faflee - 14+1+1=3
Write the following name reactions with chemical equations ~
(@) sMFRUEaed (@) BHAA SRS Afafhar (m) gwa rfafean

Ammonolysis Hoffmann Bromamide Reaction Coupling reaction
27. (@) DNAWW@WW%?mmwml 2
What is meant by DNA Fmgerpn ? Give ITS main uses. '
(@) e 3 e 1
Write two main functmns of carbohydrates in plants.
28. (@) f&d affFan & a1 Rerie 59 ToR afrau oot @ T@fa 2ar & ? we
I | 2
How the rate constant of a reaction is related to its activation energy ? Clarify.
(@) affpar &1 ife @1 R HIRA | BN sffear & Sife qen snfoasar #a
(i) 9 B E, (i) P e & 7 3
Define order of a reaction. When could order and molecularity of ar. i e same,
(11) be the different ?
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304l (OR)
(@) T v Pife afAfha &1 Aftre AW 3 231 x 1072 sec=! B 30 A
1 AE—Tg F1a B | ' 2
A first order reaction has a specific reaction rate of 2.31 x 1072 sec™!. Calculate the half-life
of the reaction.

(@) wom pife B AfMfbar & ford warafem a7 G ) Fafy PR 3
Derive the integrated rate equation for first order reaction.

(@) BTER WHA ERT an & fafor &1 | avfa s | 3
Describe the manufacture of Ammonia by Haber’s Process with diagram.

(@) SidvRANH AfE w1 8 & ? Y g | e fhardia #i e § 7 2
What are interhalogen compounds ? Why are they more reactive than halogens ?

YAl (OR)
fr=fafeg @ R W S — 1x5=5

Give the reasons pf following —
(®) S N6 & FaFIG 9ga &5 81 8| hitp://www.ukboardonline.com
Noble gases have very low boiling point.
(@) wq% @ Tom & J= 9 § |
Seca is the greatest source of some halogens.
(1) PH, BT FAUATH, NH, & el HH &1ar & |
PH; has lower boiling point than NH;.
(&) SRV & 19 8 Jafd 9o (@ 39 &7 |
Dioxygen is a gas but sulphur a solid.

() ntH & faves o R Sega s &1 SuanT nawas 2

It is necessary to use a silent electrical discharge in preparation of ozone.

U dEfE TS A’ W 69.77% B, 11.63% BRSO IR A9 AfrfoE g1 e
1 JUIfdS W 86 21 I8 At e afteds &1 swafa 48 s
Wfean gEgo Aewige @ W AP ST 91T & AR ATSIHR Tkeor off
TRAT W T 2| Y9l MMRNBIV FA U T8 USSP 3 AR WS ot e 8|
TAE U P GHIA g AP A’ B wfda G AR 5
An organic compound ‘A’ contains 69.77% carbon, 11.63% Hydrogen and rest Oxygen. The
molecular mass of the compound is 86. It does not reduce Tollen’s reagent but forms an addition
compound with Sodium hydrogen sulphite and gives positive Idoform test. On vigorous oxidation
it gives ethanoic acid and propanoic acid. Write the possible structure of the compound ‘A’ by
explaining every step.
3AA4GT (OR)

(@) vfeserse g #eM @ g<d #§ gl ams sfafpamel & fFarfafy qaga ) 2

Give the mechanism of nucleophilic addition rcactions in reference to aldehydes and kctones.
(@) fFfoRaa sfafeari a1 f FfRR - 2

Complete the following reactions -

COOH

CH,CH,
(i) KMnO, (ii) SOCI,
KOH, A A
COOH

() TARRerTS Teeid §uaA gal § Wafd wrifesigs € a1 HRUT qagd | 1

Acetaldehyde gives aldol condensation while Formaldehyde does not. Give reason.
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